advanced FLOW engineering siag-2 A ntake
Instruction Manual r: 51818721/ 54-81872-1/ 75-81872-1

Make: Ford Model: SUPER DUTY F-250/F-350/F-450/F-550 Year: 2011-2016 Etngine: V8-6.7L (td) POWER
STROKE



* Please read the entire instruction manual before proceeding.

¢ Ensure all components listed are present.

¢ If you are missing any of the components, call customer support at 951-493-7100.
¢ Ensure you have all necessary tools before proceeding.

¢ Do not attempt to work on your vehicle when the engine is hot.

¢ Disconnect the negative battery terminal before proceeding.

¢ Retain factory parts for future use.

Label  Qty. Description Part Number
Al 1 Pro DRY S (Gray Media) 21-91053
A? 1 Pro 5R (Blue Media) 24-91053
A3 1 Pro-GUARD 7 (Gold Media) 72-91053

B 1 Housing 0h-81872B?
C 1 [1he 05-81872B1
D 2 Clamp #72 03-50010

E 1 Clamp #88 03-50005

F 1 Cover 05-8187283
G 1 Coupling, Turbo 05-01137
H 1 Coupling, Silicone Hump 05-01201

| 2 Fixing Clamp, 3/4" 1D 03-50234

J 1 (Gasket, MAS 05-00631

K 2 Screw, Chs Hd: M4x.7x8 03-50034

| 2 Spacer, Nylon 03-50089
M 3 Screw, Hex Hd: M6x1x20 03-50057
N 1 \Washer, Flat: M6 03-50070
0 / Screw, Btn Hd: 5/16"x1-1/4 03-50217

P 1 Torx Bit: T20 03-50066

Q 1 Bracket 05-01351

R 2 Nut, M6 03-50185

Installation will require the following tools:
T-20 Torx Bit, 8mm Nut Driver, 10mm Socket, Ratchet, Flat Head Screw Driver, 4.5mm Allen Key.

Warranty Information available at: https://afepower.com/contact#warranty

Page 2



RP

Page 3 aFepower.com



REMOVAL

Refer to Figure A for step 1
Step 1: Take off the (2) 8mm screws securing the OE intake tube and filter box@and loosen the band

clamps. On 2015 models, cut the plastic tie holding the coolant tube@.




REMOVAL

Figure B

Refer to Figure B for steps 2-3

Step 2: Disconnect the wire harness clip from the filter housing and pull the red tab out on the flow

sensor connector, then press the tab and pull off the sensor plug. Remove the flow sensor off
the tube with the provided T-20 torx bit(3).
Step 3: Pull out the air box in an upward motion.

aFepower.com




REMOVAL

Refer to Figure C for step 4
Step 4: Slip all the hoses out of the way on the OE intake tube, loosen the clamps and remove

the tube @




Refer to Figure D for steps 5-8
Step 5: Remove OE filter minder and OE grommet from factory housing.
Step 6: Install OE grommet and OE filter minder onto hole on new cover@.
Add the hump coupler with clamps onto the small end of cover and slide until flush with tube.
Step 7: Install the sensor onto the new intake tube with provided nylon spacers, gasket and small
screws. Also place the largest clamp on the big oval end of the tube@.
Step 8: Install the air filter on cover using provided clamp and tighten.

Page 7 aFepower.com



INSTALL

Refer to Figure E for step 9
Step 9: Install the adaptor coupling onto the engine with the radius edge outward @




INSTALL

Refer to Figure F for steps 10-11

Step 10: Install tube onto engine manifold over the adaptor coupling . Do not tighten
clamps at this time.

Step 11: Install the housing, push on it to make sure stud on the bottom goes through OE rubber
grommet). Also reinstall the factory 8mm screw near the positive battery cable@.

aFepower.com




INSTALL

T ——

. il —

——

W"‘
Figure G

Refer to Figure G for step 12
Step 12: Slide hump coupling from cover onto the tube and close housing .




INSTALL

b

Figure H Sa o

Refer to Figure H for steps 13-17

Step 13: Use the provided button head screws to tighten cover to housing @

Step 14: Tighten all clamps.

Step 15: Re-connect the flow sensor.

Step 16: Snap metal tube line into tube. If too tight, plastic tube may be trimmed or filed to fit@.

Step 17: Secure OE hose with 3/4” fixing clamp@using M6 screw and washer.

NOTE: On 2015 models, use provided bracket, 3/4 fixing clamp, 2 nuts and M6 screws to
reattach coolant tube .

aFepower.com




INSTALL

Refer to Figure | for steps 18-19
Step 18: Reconnect batteries.
Step 19: Check that all components are tight and secure. Your installation is now complete.
NOTE: Place enclosed CARB EO sticker on or near the device on a smooth, clean surface.
EO identification label is required to pass the smog inspection.




PAGE LEFT BLANK INTENTIONALLY

Page 13 aFepower.com



PAGE LEFT BLANK INTENTIONALLY

Page 14



PAGE LEFT BLANK INTENTIONALLY

Page 15 aFepower.com



advanced FLOW engineering, inc.
252 Granite Street Corona, CA 92879
TEL: 951.493.7100 e TECH: 951.493.7100 x23
E-Mail:-Tech@aFepower.com P/N: 06-80707



